

Werk

Titel: Normal Fitting Pairs and Lockett's Conjecture.

Autor: Berger, Thomas R.

Jahr: 1978

PURL: https://resolver.sub.uni-goettingen.de/purl?266833020_0163 | log17

Kontakt/Contact

<u>Digizeitschriften e.V.</u> SUB Göttingen Platz der Göttinger Sieben 1 37073 Göttingen



Normal Fitting Pairs and Lockett's Conjecture

Thomas R. Berger*

School of Mathematics, 105 Vincent Hall, University of Minnesota, Minneapolis, MN55450, USA

This paper is centered around a rather simple technique (Definition (2.3)) for extending certain X-normal Fitting pairs from a Fitting class X to the class F of all finite groups. This technique allows one to consider Lockett's conjecture in various forms. We apply the technique to give simple proofs of two such theorems.

In answer to a question of Laue [8], we prove that $S \cap F_* = S_*$ where $S \subseteq F$ is the class of finite solvable groups.

We also give a simple proof to a result of Bryce and Cossey [3], namely, that if $X \subseteq S$ is a primitive saturated formation then Lockett's conjecture holds for X.

I. Preliminary Definitions and Results

Let F be the class of finite groups and S the class of finite solvable groups. All classes considered will be assumed in F. A Fitting class X is a nonempty class of groups closed under forming normal subgroups and normal products. The Fitting class of groups of order 1 is called trivial; all others are nontrivial. Let K be a Fitting class. In a group $G \in F$, the join G_K of all subnormal K-subgroups of K is a characteristic K-subgroup of K called the K-radical of K. If K is also a Fitting class then we define a product

$$\mathbf{X}\mathbf{Y} = \{ G \in \mathbf{F} \mid G/G_{\mathbf{X}} \in \mathbf{Y} \}.$$

Then XY is a Fitting class, and the product is associative.

We turn now to a discussion of the Lockett *-operation. For a Fitting class X, define

 $X^* = \{G \in F \mid G \text{ is subdirect in } (G \times G)_X\}.$

^{*} The author would like to thank Johannes Gutenberg University, West Germany, the Senior Research Council, Great Britain, and the National Science Foundation, USA, for partial support while this research was carried on

We mass together the relevent facts about the *-operation. Throughout this section we quote results in a form often more general than the original. In all cases, the more general result is proven by minor alterations of the original proof.

- (1.1) **Theorem** [10, Theorem 2.2, Proposition 2.3, Lemma 2.1]. Let X be a Fitting class. The class X^* is a Fitting class. Let X_* be the intersection over all Fitting classes Y such that $Y^* = X^*$.
 - (a) $X^{**} = X^*; (X^*)_* = X_*; (X_*)^* = X^*; X_{**} = X_*.$
 - (b) If Y is a Fitting class, then

$$X^* = Y^* \Leftrightarrow X_* = Y_* \Leftrightarrow X_* \subseteq Y \subseteq X^*.$$

- (c) If $X \subseteq Y$ for a Fitting class Y then $X^* \subseteq Y^*$ and [3, Corollary 3.5] $X_* \subseteq Y_*$.
 - (d) For all $G \in \mathbb{F}$, $[G_{\mathbf{X}^*}, \operatorname{Aut}(G)] \leq G_{\mathbf{X}_*}$.
- (e) [3, Theorem 3.6]. If $X \subseteq Y$ for a Fitting class Y, and $N_Y(X)$ is the intersection over all Fitting classes $U \supseteq X$ such that $Y_* \subseteq U \subseteq Y^*$, then $X^* \cap Y_* = X_*$ implies $X^* \cap N_Y(X) = X$.

If $X \subseteq S$ then Lockett [10] asked if the following equality always held:

(1.2)
$$X = X^* \cap N_s(X)$$
.

It does not [1]. In fact, there is a Fitting class X such that $X_* \neq X \subseteq S_*$. However, the identity (1.2) is of some interest. In fact, because of part (e) of the theorem, a more interesting identity might be

$$(1.3) \quad \mathbf{X}^* \cap \mathbf{Y}_* = \mathbf{X}_*$$

for Fitting classes $X \subseteq Y$. The identity (1.2) is called *Lockett's conjecture*.

We turn next to normal Fitting classes and normal Fitting pairs. A Fitting class $Y \subseteq X$ is called an X-normal Fitting class if (1) $Y \subseteq X$, (2) for any $G \in X$, $G_Y \supseteq [G, \operatorname{Aut}(G)]$, and (3) if X is nontrivial then Y is nontrivial. We call a pair (f, A) an X-normal Fitting pair if A is an abelian group, and f assigns to each $G \in X$ a homomorphism $f_G \colon G \to A$ such that

(1.4) (1) if $H, G \in X$, $\varphi: H \to G$ is an isomorphism, and $\varphi(H) \lhd G$, then $f_H = f_G \varphi$; and

(2)
$$A = \langle f_G(G) | G \in \mathbf{X} \rangle$$
.

Let (f, A) be an X-normal Fitting pair and $B \subseteq A$ a subgroup. If for any $x \in G \in X$ we set

$$\bar{f}_G(x) = f_G(x) B \in A/B$$

then $(\bar{f}, A/B)$ is an X-normal Fitting pair and is said to be *induced* by (f, A). Assume now that $Y \subseteq X$ is a Fitting class; (f, A) is an X-normal Fitting pair; and (g, B) is a Y-normal Fitting pair. If $B \subseteq A$ and $f_G = g_G$ for all $G \in Y$ then we

call (f, A) an extension of (g, B), and we call (g, B) the restriction of (f, A). There is only one restriction, though there may be many extensions. With respect to Fitting pairs and classes, the word "normal" means "S-normal."

We lump together the results we will need on normal Fitting pairs and classes.

- (1.5) **Theorem.** Let $Y \subseteq X$ be Fitting classes.
- (a) [2, Satz 5.1]. If Y is an X-normal Fitting class then Y contains all simple groups in X.
- (b) [2, Satz 6.2] An intersection of X-normal Fitting classes is X-normal. Thus, there is a unique minimal X-normal Fitting class.
 - (c) [3, Theorem 3.4] X_* is the unique minimal X-normal Fitting class.
- (d) [2, Satz 3.1] If (f, A) is an X-normal Fitting pair then $X_f = \{G \in X \mid f_G(G) = 1\}$ is an X-normal Fitting class.
- (e) [9, Theorem 2.4] If Y is X-normal then there is an X-normal Fitting pair (f, A) such that $X_f = Y$.

A proof is omitted for the following easy lemma.

(1.6) **Lemma.** If X is a Fitting class, (f,A) an X-normal Fitting pair, and $(f^p, A/O^p(A))$ the induced pair for the prime p, then X_f is the intersection of X_{f^p} over all primes p.

Next we discuss a particular Fitting class. For a prime p, let \mathbf{F}^{p^*} be the class of all groups in \mathbf{F} which have no composition factor of order p. It is straightforward to verify that \mathbf{F}^{p^*} is a Fitting formation (i.e. both a Fitting class and a formation). (For definitions and facts about formations see [7, Chapter VI].) Notice that $\mathbf{F}^{p^*} \cap \mathbf{S} = \mathbf{S}_{p'}$, the class of p'-groups in \mathbf{S} . The class \mathbf{F}^{p^*} is not saturated. For p > 3 this can be seen by considering $G = PSL(2, \mathbf{Z}_{p^2})$, the projective unimodular matrices over the integers modulo p^2 . Here $\Phi(G)$ is of order p^3 and $G/\Phi(G) \simeq PSL(2, p) \in \mathbf{F}^{p^*}$. If $G \in \mathbf{F}$, we denote the \mathbf{F}^{p^*} residual as $O^{p^*}(G)$.

II. The Extension Theorem

- (2.1) Hypothesis. Assume the following:
 - (1) p is a prime:
 - (2) $K \supseteq X \supseteq Y$ are Fitting classes:
 - (3) if $G \in X$ then $O^{p^*}(G) \in Y$;
 - (4) if $G \in \mathbf{K}$ and P is a Sylow p-subgroup of G, then $PG_{\mathbf{Y}} \in \mathbf{Y}$; and
 - (5) (f, A) is an X-normal Fitting pair for which A is a p-group.
- (2.2) **Extension Theorem.** If Hypothesis (2.1) holds then there is a **K**-normal Fitting pair (\hat{f}, A) whose restriction to **X** is (f, A).

Throughout the proof, G will denote a group in K. We now define explicitly the desired extension.

(2.3) **Definition.** Let $G \in K$. Fix $H \subseteq G$ such that H/G_Y is a Sylow p-subgroup of G/G_Y . Let n = n(G) be a positive integer chosen such that

$$n\lceil G: H \rceil \equiv 1 \pmod{|G|_p}$$
.

If $y \in G$ then set

$$\widehat{f}_G(y) = f_H(V_{G \to H}(y))^n$$

where $V_{G \to H}$ is the transfer of G into H/H'.

(2.4) **Lemma.** \hat{f}_G is a homomorphism of G into A.

Since $H/G_{\mathbf{Y}}$ is a p-group and H contains a Sylow p-group of G, $H = PG_{\mathbf{Y}}$ for some Sylow p-subgroup P of G and [G:H] is prime to p. By hypothesis, $H = PG_{\mathbf{Y}} \in \mathbf{Y} \subseteq \mathbf{X}$. In particular, f_H and n both exist. Since f_H maps H into an abelian group, H' is in the kernel of f_H . Therefore, f_H determines a unique homomorphism of H/H' into A. It follows that $f_H(V_{G \to H}(y))$ defines a homomorphism. Since A is abelian, raising to the nth power does not change the fact that we have a homomorphism.

(2.5) **Lemma.** \hat{f}_G is independent of the choice of n = n(G).

Since A is a p-group, the exponent of the image $\hat{f}_G(G)$ of G in A divides $|G|_p$. Thus by the congruence condition on n, \hat{f}_G is independent of the choice of n = n(G).

(2.6) **Lemma.** If $\psi: G \to G_1$ is an isomorphism of G onto G_1 then for any $y \in G$,

$$\hat{f}_G(y) = \hat{f}_{G_*}(y^{\psi}).$$

Suppose that H_1 and n_1 are chosen in the definition of \hat{f}_{G_1} to correspond to H and n respectively. Since $G_{\mathbf{Y}}$ is the join of all normal Y-subgroups of G, $G_{\mathbf{Y}}^{\psi} = G_{1\mathbf{Y}}$. Therefore, $H^{\psi}/G_{1\mathbf{Y}}$ is a Sylow p-subgroup of $G_1/G_{1\mathbf{Y}}$. By Sylow's Theorem there is a $u \in G_1$ so that $H_1^u = H^{\psi}$. Since A is abelian, G_1 is in the kernel of \hat{f}_{G_1} . Thus if $y \in G$ then

$$\begin{split} \widehat{f}_{G_{1}}(y^{\psi}) &= f_{H_{1}}(V_{G_{1} \to H_{1}}(y^{\psi}))^{n_{1}} \\ &= f_{H_{1}}(V_{G_{1} \to H_{1}}(y^{\psi u^{-1}}))^{n_{1}} \\ &= f_{H_{1}}([V_{G_{1} \to H_{1}^{u}}(y^{\psi})]^{u^{-1}})^{n_{1}} \\ &= f_{H_{1}^{u}}(V_{G_{1} \to H_{1}^{u}}(y^{\psi}))^{n_{1}} \\ &= f_{H\psi}(V_{G\psi \to H\psi}(y^{\psi}))^{n_{1}} \\ &= f_{H}(V_{G\to H}(y))^{n_{1}} \\ &= f_{H}(V_{G\to H}(y))^{n_{1}} \\ &= \widehat{f}_{G}(y). \end{split}$$

Since $|G|_p = |G_1|_p$ and $[G: H] = [G_1: H_1]$, n and n_1 satisfy the same congruence condition. Lemma (2.5) allows us to change the exponent. Several times in the

proof we used the fact that if $w \in H$ and $\varphi: H \to H_1$ is an isomorphism onto H_1 then $f_H(w) = f_{H^{\varphi}}(w^{\varphi})$.

Remarks. (1) If ψ is taken to be conjugation by $x \in G$ or as an element of $\operatorname{Aut}(G)$ then we see that

$$\hat{f}_G(y^{\psi}) = \hat{f}_G(y).$$

(2) If H_1/G_Y is a Sylow p-subgroup of G/G_Y then $H_1 = H^u$ for some $u \in G$. We now have

$$\begin{split} \hat{f}_{G}(y) &= \hat{f}_{G}(y^{u^{-1}}) = f_{H}(V_{G \to H}(y^{u^{-1}}))^{n} \\ &= f_{H}([V_{G \to H^{u}}(y)]^{u^{-1}})^{n} \\ &= f_{H^{u}}(V_{G \to H^{u}}(y))^{n} \\ &= f_{H_{1}}(V_{G \to H_{1}}(y))^{n}. \end{split}$$

Thus \hat{f}_G is independent of the choice of H in the definition.

(2.7) **Lemma.** If $G \in \mathbf{K}$ is given, \hat{f}_G is independent of all choices made in its definition.

The only choices were H and n.

(2.8) Lemma. If $N \triangleleft G$ then $\hat{f}_G|_{N} = \hat{f}_N$.

Let $y \in N$. It is an easy computation and a well-known result that if $y \in G$ then $V_{G \to H}(y) = wH'$ where $w = y^{[G:H]}v$, $v \in G'$. The group A is a p-group, so that all p'-elements of N are mapped to 1 by both \hat{f}_G and \hat{f}_N . In particular, we may assume that y is a p-element of N. Let P be a Sylow p-subgroup of H (hence of G). Now $\hat{f}_N(y^x) = \hat{f}_N(y)$ for all $x \in G$, so that we may assume $y \in P \cap N$. Since wH' is a p-element, we may take $w \in P$. Now both w and $y^{[G:H]}$ lie in P so that v does also. In particular, $v \in G' \cap P$, the Focal Subgroup of G. We show now that since $v \in H$, $f_H(v) = 1$. Let $x, t \in P$ and assume that $x^b = t$ for some $b \in G$. Since H/G_Y , is a p-group, both $L = \langle x \rangle G_Y$ and $L^b = \langle x^b \rangle G_Y = \langle t \rangle G_Y$ are subnormal in H. Therefore, $f_H(t) = f_H(x^b) = f_{L^b}(x^b) = f_L(x) = f_H(x)$, or $f_H(x t^{-1}) = 1$. By the Focal Subgroup Theorem [5, Theorem (7.3.4)], these elements $x t^{-1}$ generate the focal subgroup $G' \cap P$. Therefore, f_H contains $G' \cap P$ in its kernel, and $f_H(v) = 1$. We conclude that

$$\hat{f}_G(y) = f_H(V_{G \to H}(y))^n = f_H(w)^n = f_H(y^{[G:H]} v)^n$$

$$= f_H(y)^{[G:H]n}.$$

Now $G_{\mathbf{Y}} \cap N = N_{\mathbf{Y}}$ and $H \ge G_{\mathbf{Y}}$ so that $N_{\mathbf{Y}} = G_{\mathbf{Y}} \cap (H \cap N)$. Thus

$$(H \cap N)/N_{\mathbf{v}} = (H \cap N)/G_{\mathbf{v}} \cap (H \cap N) \simeq (H \cap N) G_{\mathbf{v}}/G_{\mathbf{v}} \leq H/G_{\mathbf{v}},$$

a p-group. But $H \cap N \ge P \cap N$, a Sylow p-subgroup of N. We conclude that if $K = H \cap N$ then K/N_Y is a Sylow p-subgroup of N/N_Y . Since $K = H \cap N$, [HN: H] = [N: K].

Computing, we now have

$$n[G: H] = n[G: HN][HN: H]$$

$$= (n[G: HN])[N: K]$$

$$\equiv 1 \pmod{|G|_p}$$

$$\equiv 1 \pmod{|N|_p}.$$

By Lemma (2.7), we may take K (as H) and m=n[G:HN] (as n(N)) in the definition of \hat{f}_N . Let $P_0=P\cap N$ so that P_0 is a Sylow p-subgroup of N. By an argument exactly as for G, we conclude that $V_{N\to K}(y)=u\,K'$ where $u=y^{[N:K]}\,b$ and $b\in N'\cap P_0$. Since, as before, $f_K(b)=1$, $\hat{f}_N(y)=f_K(y)^{[N:K]m}$. But $[N:K]\,m=[G:H]\,n$. Since $y\in K \lhd H$,

$$\hat{f}_G(y) = f_H(y)^{[G:H]n} = f_K(y)^{[G:H]n} = \hat{f}_N(y),$$

completing the proof of the lemma.

(2.9) **Lemma.** If $G \in X$ then $\hat{f}_G = f_G$. In particular, $A = \langle \hat{f}_G(G) | G \in K \rangle$.

Since $G \in \mathbf{X}$, $O^{p^*}(G) \in \mathbf{Y}$. Thus $O^{p^*}(G) \leq G_{\mathbf{Y}}$. We now know that $G/G_{\mathbf{Y}}$ has no composition p-factors. That is, $G_{\mathbf{Y}}$ covers all composition p-factors of G. Thus $G = O^p(G) G_{\mathbf{Y}}$. Let $y \in G$ so that y = x w where $x \in O^p(G)$ and $w \in G_{\mathbf{Y}}$. Both f_G and \widehat{f}_G map G into A, a p-group, so that $O^p(G)$ is in the kernel of both maps. Thus $\widehat{f}_G(y) = \widehat{f}_G(w)$ and $f_G(y) = f_G(w)$. In particular, $\widehat{f}_G = f_G$ if $\widehat{f}_{G_{\mathbf{Y}}} = f_{G_{\mathbf{Y}}}$. This latter equality is obvious from the definition of \widehat{f}_G , since $G_{\mathbf{Y}} \in \mathbf{Y}$. The lemma follows.

These lemmas together prove the Extension Theorem.

III. Applications

A. The Conjecture of Laue

(3.1) Theorem. $F_* \cap S = S_*$.

Choose an S-normal Fitting pair (f,A) such that $S_f = S_*$. For a prime p, let (f^p,A^p) be the induced pair with $A^p = A/O^p(A)$. Then by Lemma (1.6), $\cap S_{f^p} = S_*$ where p runs over all primes. For the Extension Theorem we take K = F and X = Y = S. If $G \in X = S$ then $O^{p^*}(G) = O^{p'}(G) \in Y = S$. If $G \in F$ and P is a Sylow p-subgroup of G, then $PG_Y \in Y = S$ since $G_Y \in Y = S$. Hypothesis (2.1) holds for (f^p,A^p) and each prime p. By the Extension Theorem there is an extension (\hat{f}^p,A^p) of (f^p,A^p) to F. Let F^0 be the intersection over the classes $F_{\hat{f}^p}$ for all primes p. Then clearly $F^0 \cap S = S_*$. Since by Theorem (1.1)(b) and Theorem (1.5)(c), $F^0 \supseteq F_*$, we have $F_* \cap S \subseteq S_*$. By Theorem (1.1)(c), $F_* \supseteq S_*$ so that we have $F_* \cap S = S_*$, completing the proof.

B. The Theorem of Bryce and Cossey

Primitive saturated formations are defined by Hawkes in [6]. Bryce and Cossey prove the following.

(3.2) **Theorem** [4, Section 4]. The primitive saturated formations in S are precisely the subgroup closed Fitting formations in S.

For a set of primes π we let S_{π} be the class of π -groups in S. If $\pi = \{p\}$ then we set $S_{\pi} = S_p$.

(3.3) **Theorem** (3, Lemma 2.3). If $Y \subseteq S$ is a primitive saturated formation of bounded Fitting height then $Y = \cap Y_i$, $i = 1, 2, ..., \infty$ where each Y_i is a finite product of S_{π} 's for various sets of primes π .

Fix a primitive saturated formation $\tilde{\mathbf{X}} \subseteq \mathbf{S}$. For an integer n > 0 we let \mathbf{N}^n be the class of groups in \mathbf{S} of Fitting height at most n. Set $\tilde{\mathbf{X}}_n = \tilde{\mathbf{X}} \cap \mathbf{N}^n$ so that $\tilde{\mathbf{X}} = \cup \tilde{\mathbf{X}}_i$, $i = 1, 2, ..., \infty$. Each of the classes $\tilde{\mathbf{X}}_n$ is a primitive saturated formation of bounded Fitting height. By Theorem (2.3), $\tilde{\mathbf{X}}_n = \bigcap_{i=1}^{\infty} \tilde{\mathbf{Y}}_{ni}$ where $\tilde{\mathbf{Y}}_{ni}$ is a product

(3.4)
$$S_{\pi(n,i,1)} S_{\pi(n,i,2)} \dots S_{\pi(n,i,t_1)}$$

where $t_i \ge 1$ and all $\pi(n, i, j)$ are sets of primes.

Let $K \subseteq S$ be a subgroup closed Fitting class, and (f, A) a $(K \cap \tilde{X})$ -normal Fitting pair such that $(K \cap \tilde{X})_f = (K \cap \tilde{X})_*$. We prove now that

$$(3.5) \quad (\mathbf{K} \cap \tilde{\mathbf{X}})_* = \mathbf{K}_* \cap \tilde{\mathbf{X}}.$$

Let
$$\mathbf{X} = \mathbf{K} \cap \mathbf{\tilde{X}}$$
, $\mathbf{X}_n = \mathbf{K} \cap \mathbf{\tilde{X}}_n$, and $\mathbf{Y}_{ni} = \mathbf{K} \cap \mathbf{Y}_{ni}$ so that $\mathbf{X}_n = \bigcap_i \mathbf{Y}_{ni}$ and $\mathbf{X} \cup \mathbf{X}_n$.

Fix a prime p and let (f^p, A^p) be the Fitting pair induced by (f, A) in $A^p = A/O^p(A)$. Fix an integer n > 0, and let $(f^{p,n}, A^{p,n})$ be the restriction of (f^p, A^p) to \mathbf{X}_n . We wish to obtain an extension $(\hat{f}^{p,n}, A^{p,n})$ of $(f^{p,n}, A^{p,n})$ to \mathbf{K} . If there is an integer i > 0 such that $p \notin \pi(n, i, j)$ for all sets $1 \le j \le t_i$, then \mathbf{X}_n is a class of p'-groups. Since $A^{p,n}$ is a p-group, the pair $(f^{p,n}, A^{p,n})$ is trivial and has a trivial extension to \mathbf{K} . Therefore, we may assume that for each i there is a unique largest integer s_i , $1 \le s_i \le t_i$, such that $p \in \pi(n, i, s_i)$. Let $\tilde{\mathbf{A}}_{ni}$ be the product of the first s_i factors in (3.4) and $\tilde{\mathbf{B}}_{ni}$ the product of the remaining factors. Since $p \in \pi = \pi(n, i, s_i)$, $\mathbf{S}_{\pi} \mathbf{S}_p = \mathbf{S}_{\pi}$ so that $\tilde{\mathbf{A}}_{ni} \mathbf{S}_p = \tilde{\mathbf{A}}_{ni}$. Further, $\tilde{\mathbf{B}}_{ni}$ is a class of p'-groups by the choice of s_i , and

$$\tilde{\mathbf{Y}}_{ni} = \tilde{\mathbf{A}}_{ni} \, \tilde{\mathbf{B}}_{ni}.$$

Let
$$\hat{\mathbf{Y}}_n = (\bigcap_i \mathbf{A}_{ni}) \cap \mathbf{K}$$
 so that $\mathbf{Y}_n \subseteq \mathbf{X}_n \subseteq \mathbf{K}$.

We verify the hypotheses of the Extension Theorem for the classes K, X_n , and \tilde{Y}_n . Let $G \in X_n$. Since $O^{p^*}(G) = O^{p'}(G) \lhd G$ and $X_n \subseteq K$, $O^{p^*}(G) \in K$. Since $G \in X_n \subseteq \tilde{X}_n$, $G \in \tilde{Y}_{ni}$ for all i. Now $G/G_{\tilde{A}_{ni}} \in \tilde{\mathbf{B}}_{ni} \subseteq \mathbf{S}_{p'}$ so that $O^{p^*}(G) = O^{p'}(G) \subseteq G_{\tilde{A}_{ni}}$ for all i. Thus $O^{p^*}(G) \in (\cap \tilde{\mathbf{A}}_{ni}) \cap \mathbf{K} = \hat{\mathbf{Y}}_n$, verifying (3) of the hypotheses.

Next let $G \in \mathbf{K}$. Now $G_{\hat{\mathbf{Y}}_n} \in \tilde{\mathbf{A}}_{ni}$ for all i and $\tilde{\mathbf{A}}_{ni} \mathbf{S}_p = \tilde{\mathbf{A}}_{ni}$ so that $PG_{\hat{\mathbf{Y}}_n} \in \tilde{\mathbf{A}}_{ni}$ for all i where P is a Sylow p-subgroup of G. Since \mathbf{K} is subgroup closed, $PG_{\hat{\mathbf{Y}}_n} \in (\bigcap \tilde{\mathbf{A}}_{ni}) \cap \mathbf{K} = \hat{\mathbf{Y}}_n$, verifying (4) of the hypotheses.

Since all other parts of the hypotheses hold, by the Extension Theorem there is a pair $(\hat{f}^{n,p}, A^{n,p})$ on **K** whose restriction to X_n is $(f^{n,p}, A^{n,p})$.

Let $G \in \mathbf{K}_* \cap \mathbf{X} = \mathbf{K}_* \cap \tilde{\mathbf{X}}$. Since G has some Fitting height, we assume this to be n. Now $G \in \mathbf{K}_*$ so that $G \leq \ker \hat{f}_G^{n,p}$ by Theorem (1.5)(c). Since $G \in \mathbf{K} \cap \tilde{\mathbf{X}} \cap \mathbf{N}^n = \mathbf{K} \cap \tilde{\mathbf{X}}_n = \mathbf{X}_n$, and $(\hat{f}^{n,p}, A^{n,p})$ extends $(f^{n,p}, A^{n,p})$, $\hat{f}_G^{n,p} = f_G^{n,p}$. But $(f^{n,p}, A^{n,p})$ is the restriction of (f^p, A^p) to \mathbf{X}_n so that $\hat{f}_G^{n,p} = f_G^{n,p} = f_G^p$. In particular, $G \in \mathbf{X}_{f^p}$ for every prime p. By Lemma (1.6), $G \in \mathbf{X}_*$. We now have $\mathbf{K}_* \cap \mathbf{X} \subseteq \mathbf{K}_*$. By Theorem (1.1)(c), $\mathbf{X}_* \subseteq \mathbf{K}_*$ so that $\mathbf{K}_* \cap \tilde{\mathbf{X}} = \mathbf{K}_* \cap \mathbf{X} = \mathbf{X}_* = (\mathbf{K} \cap \tilde{\mathbf{X}})_*$. This proves the identity (2.5).

(3.6) **Theorem** (3, Theorem 4.17). Assume that $X \subseteq S$ is a primitive saturated formation and that $K \subseteq S$ is a subgroup closed Fitting class. Then

$$\mathbf{K}_{\star} \cap \mathbf{X} = (\mathbf{K} \cap \mathbf{X})_{\star}$$
.

Applying the theorem with K = S and Theorem (1.1)(e) we have:

(3.7) Corollary [3, Theorem 1.3]. If X is a primitive saturated formation then $X = X^* \cap N_s(X)$, i.e. Lockett's conjecture holds for X.

References

- 1. Berger, T.R., Cossey, J.: An example in the theory of normal Fitting classes. Math. Z. (to appear)
- 2. Blessonohl, D., Gaschütz, W.: Über normale Schunck- und Fittingklassen. Math. Z. 118, 1-8 (1970)
- 3. Bryce, R.A., Cossey, J.: A problem in the theory of normal Fitting classes. Math. Z. 141, 99-110 (1975)
- 4. Bryce, R.A., Cossey, J.: Fitting formations of finite soluble groups. Math. Z. 127, 217-223 (1972)
- 5. Gorenstein, D.: Finite groups. New York: Harper and Row 1968
- 6. Hawkes, T.O.: Skeletal classes of soluble groups. Arch. Math. (Basel) 22, 577-589 (1971)
- 7. Huppert, B.: Endliche Gruppen, Bd. I. Berlin-Heidelberg-New York: Springer 1967
- 8. Laue, H.: Über nicht auflösbare normale Fittingklassen. J. Algebra 45, 274-283 (1977)
- 9. Lausch, H.: On normal Fitting classes. Math. Z. 130, 67-72 (1973)
- 10. Lockett, F.P.: The Fitting class F*. Math. Z. 137, 131-136 (1974)

Received May 6, 1978